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Ex/Phil/PG/1.4/2018

MASTER OF ARTS EXAMINATION, 2018

(1st Year, 1st Semester)

PHILOSOPHY

[Epistemology (Western)]

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

Use a separate Answer-Script for each Group.

Group - A / øıˆ¬±· - fl¬

1. Compare and contrast between the approaches of the
foundationalist and the coherentist with regard to the
apprehension of experiential content or cognitively
spontaneous beliefs. 10

1º :±Ú·Ó¬ı˛+À¬Û ¶§Ó¬–¶£”¬Ó«¬ øıù´±¸¸˜”˝ ’Ôı± ’øˆ¬:Ó¬±˘t øı¯∏À˚˛ı˛

’Ú≈ˆ¬ı ¸•§Àg¬ øˆ¬øMı±œ ¤ı— ¸—¸øMêı±ø·ÀÌı˛ ‘ø©Üˆ¬ø/ı˛ ˜ÀÒ…

Ó≈¬˘Ú±¬Û”ı«fl¬ ¬Û±Ô«fl¬… øÚı˛+¬ÛÌ fl¬ı˛º 10

Or / ’Ôı±

2. (a) Explain the main difference between the internalists and
externalists with regard to epistemic justification.
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(b) Show how Descartes’ views provided the initial impetus
for both foundationalism and internalism. 4+6=10

2º ïfl¬ó :±ÚÓ¬±øMWfl¬ ˚≈øMêø¸øX¬ øı¯∏À˚˛ ’ˆ¬…ôL√ı˛ı±œ ¤ı— ı±˝…ı±ø·ÀÌı˛

˜ÀÓ¬ı˛ ˜ÀÒ… √õ∂Ò±Ú ¬Û±Ô«fl¬…¸˜”˝ ı…±‡…± fl¬ı˛º

ï‡ó øˆ¬øMı± ¤ı— ’ˆ¬…ôL√ı˛ı±, ¤ ◊̋ Î¬◊̂ ¬ ˛̊ ˜ÀÓ¬ı˛ Œé¬ÀS ◊̋ Œfl¬±ÀÓ«¬ı˛

˜Ó¬ fl¬œˆ¬±Àı √õ∂±ı˛øy¬fl¬ Œ√õ∂ı˛Ì±ı˛+À¬Û fl¬±Ê fl¬Àı˛ÀÂ, Ó¬± √õ∂ «̇Ú fl¬ı˛º

4+6=10

3. Briefly discuss the issues concerning  the nature of
coherence in the coherence theory of justification. 5

3º ˚≈øMêø¸øX¬øı¯∏˚˛fl¬ ¸—¸øMêı±À ¸—¸øMêı˛ ¶§ı˛+¬Û ¸•§Àg¬ ¸˜¸…±¸˜”˝

¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º 5

Or / ’Ôı±

4. (a) What is the epistemic regress problem ?

(b) The foundationalism coherentism debate and the
internalism-externalism debate are both concerned with
the nature of epistemic justification. What is the difference
between them ? 3+2=5

4º ïfl¬ó :±ÚÓ¬±øMWfl¬ ’Úı¶ö±øı¯∏˚˛fl¬ ¸˜¸…±øÈ¬ fl¬œ ∑
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ï‡ó øˆ¬øMı±-¸—¸øMêı±Àı˛ ˜ÀÒ… øıı± ¤ı— ’ˆ¬…ôL √ı ˛ı±-

ı±˝…ı±Àı˛ ˜ÀÒ… øıı±, ¤˝◊ Î¬ ◊ˆ¬˚˛ øıı±˝◊ :±ÚÓ¬±øMWfl¬

˚≈øMêø¸øX øı¯∏˚˛fl¬ ˜Ó¬ ˝›˚˛± ¸ÀMW› ¤˝◊ Î¬◊ˆ¬˚˛ øıı±Àı˛ ˜ÀÒ…

¬Û±Ô«fl¬… fl¬œ ∑ 3+2=5

Group - B / øıˆ¬±· - ‡

5. What conclusions does Kant draw from the metaphysical
and transcendental expositions of the idea of space ? Discuss.

10

5º ŒÀ˙ı˛ Ò±ı˛Ì± ¸•§Àg¬ ’±øÒøı…fl¬ ı…±‡…± › ’øÓ¬ıÓ¬œ« ı…±‡…± ŒÔÀfl¬

fl¬±KÈ¬ fl¬œ fl¬œ ø¸X±ÀôL√ Î¬◊¬ÛÚœÓ¬ ˝Ú ∑ ’±À˘±‰¬Ú± fl¬ı˛º 10

Or / ’Ôı±

6. How does transcendental logic differ from general logic ?
Can mathematics be reduced to logic ? Discuss in brief.

6+4=10

6º ¸±Ò±ı˛Ì ’Ú≈˜±Ú˙±¶a ŒÔÀfl¬ ’øÓ¬ıÓ¬œ« ’Ú≈˜±Ú˙±À¶aı˛ √õ∂Àˆ¬ fl¬œ ∑

’Ú≈˜±Ú˙±À¶a ·øÌÀÓ¬ı˛ ’ôL√ˆ«¬±ı øfl¬ ¸y¬ı ∑ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º

6+4=10

[  3  ]
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Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

7. Does Kant accept metaphysics ? Discuss briefly. 5

7º fl¬±∞I◊ øfl¬ ’øÒøı…± ¶§œfl¬±ı˛ fl¬Àı˛Ú ∑ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º 5

Or / ’Ôı±

8. How does Kant distinguish between a priori and a
posteriori judgments ? State after Kant, the criteria of the
a priori. 4+1=5

8º fl¬±∞I◊ fl¬œˆ¬±Àı ¬Û”ı«Ó¬–ø¸X¬ › ¬Ûı˛Ó¬–¸±Ò… ’ıÒ±ı˛ÀÌı˛ ˜ÀÒ… ¬Û±Ô«fl¬…

øÚı˛+¬ÛÌ fl¬Àı˛Ú ∑ fl¬±∞I◊Àfl¬ ’Ú≈¸ı˛Ì fl¬Àı˛ ¬Û”ı«Ó¬–ø¸ÀXı˛ ˜±ÚG¬&ø˘

ı…Mê fl¬ı˛º 4+1=5

—————
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